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—RBHFEARBREESRETEESS (B )
# H AFETHE | 45EARAERE | #-RE ()

I IRADER
1 EXEIPRA 8,000,000 5,795,000 2,205,000
=& 2,000,000 950,000 1,050,000
LB 6,000,000 4,845,000 1,155,000
2 SEEIA 1,000,000 825,000 175,000
3 FIRIXA 400 392 8
4 HIXA 0 13,331 -13,331
LHJUR A &5 (A) 9,000,400 6,633,723 2,366,677
HIEARERIN L =48 3,196,044 3,196,044 0
IRAEE(B) 12,196,444 9,829,767 2,366,677

I ZHDE
1 BXE 4,450,000 1,954,494 2,495,506
SEEWRE -tz 2,000,000 1,559,380 440,620
LZE (IBELE) 200,000 395,114 -195,114
HERXRXBE 250,000 0 250,000
EXHRE 2,000,000 0 2,000,000
2 EIHE 4,720,000 4,354,148 365,852
1% & R BN 232,800 240,000 -7,200
BRFL 3,328,440 3,420,000 -91,560
EERNE 38,760 44,748 -5,988
BRELEE 21,000 -21,000
HESRE 200,000 279,002 -79,002
REE 300,000 39,740 260,260
BEE 250,000 294,907 -44,907
BIEFHRBAE 100,000 0 100,000
FTHFEH 20,000 14,751 5,249
AR 50,000 0 50,000
X HLEREM R 200,000 0 200,000
3 Pl 0 0 0
ZHEARHAEET(O) 9,170,000 6,308,642 2,861,358
LHAN T = %8 (A-C) -169,600 325,081 -494,681
IRZ#=%E(B—C) -169,600 325,081 -494 681
AIES | HE AR I 0 0 0
RTINS 4B -169,600 325,081 -494 681
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—RHAEZAREREREEEEER (BfL: M)
' E o 8 & o &

7 B * % & B * %
[(REVEE] 3,629,170 ([FRBIE(E] 108,045
HeRUHAEZS 3629170 | X $h £ 108,045
EE o0& G 108,045

IF KK Bt E O

[ERKREL7ZE]) 3,521,125
R R E 3,521,125
IE K BFZE DB EE 3,521,125
BEDEEE 3620170 | E R UV EBKBIE & & 3629170
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TRf24%12A31ARE
—BRHFAEARKRERBREEEER (Bifs: M)
& B i %8
I TRIBEIE
Hne HEeEFtEe 164,778
HEE =ZHRRUFJERTT 1,097,241
HT1ZERIT 107,051
56 LER1T 510,100
#EITE 1,750,000
BRI ESET 3,629,170
0 SHMREARE
RiLE SEE (HERE) 108,045
SHIBEIE ST 108,045




